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More Than, Less Than Task A
Question: Finish the bar model and answer:
Kim has 17 sweets.
) Kim 17

Eve has 5 fewer sweets than Kim.

How many sweets do they have Eve -

in total?

Ben has 14 shells. Ben 14

Ben has 8 shells fewer than Tim.

How many shells does Tim have? Tim

Zara has £30.

LZara £30

Zara has £12 more than Kate.

How much money do Zara and Kate

Kate have altogether?
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Task B Version 1

Question: Finish the Bar Models and Answer:
Jen has 13 books.
Jen 13
She has 4 books fewer than Amy.
How many books does Amy Amy
have?
Harry has £45.
Harry £45
Zack has £13 less than Harry.
How much money do Harry and Zack

Zack have altogether?

Kam has 18 grapes.

Jack has 5 more grapes than Kam.

How many grapes do they have
altogether?
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Task C

Question:

Finish the bar model and answer:

Altogether, Ben and Tim have
10 t-shirts.

Ben has 2 more t-shirts than Tim.
How many t-shirts does Tim have?

Altogether, Jen and Amy have
scored 9 goals this season.

Jen has scored 5 more goals than
Amy.

How many goals has Jen scored?

Kam and Jack have £20 in total.
Kam has £4 more than Jack.

How much money does Jack
have?
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Question:

Answer:

Beth has 250ml of juice.
She has 150ml less juice than Rosie.

How much juice do Beth and Rosie
have altogether?

Altogether, Raja and Mo have scored
24 goals this season.

Raja has scored 6 more goals than Mo.

How many goals has Mo scored?

| think of two different numbers.

The sum of my numbers is 40. The
difference between my numbers is 10.

What are my numbers?

More Than, Less Than

Task D

Question:

Answer:

Beth has 250ml of juice.
She has 150ml less juice than Rosie.

How much juice do Beth and Rosie
have altogether?

Altogether, Raja and Mo have scored
24 goals this season.

Raja has scored 6 more goals than Mo.

How many goals has Mo scored?

| think of two different numbers.

The sum of my numbers is 40. The
difference between my numbers is 10.

What are my numbers?




	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5

